12+2= 11 = 11 = 25:6=
12 x 4 = Bxl0= 28=7T
100 + 10 = 110 = 10 = 12 x 2 =
G0+ 5 10=5-= I8 =6 =
QxT= ob+ 8= Z2x9:=
88 =11= BxB= 20=56=
1l x &= 16=2= 21+7 =
12 - 4= Il 44 =11 =
T2 8= 30+ 3= ad =12 =
Sx0= 42 =T = J0=10=
B0+5= TxT:= 49 =7 =
4 w10 = O+3=c 42 =
S4=0- 2x4= 36=6=
Qx Tz 35+5= 4 x 4=
I0x 8= 24+ 3= 84 =12 =
14 +2 = 10 x 6= Zx8=
9w ld= TxB= Q1=
48 - &6 = 132 =11 = 50 =10=
35 =T= Fxb= f2=0=
w12 = 12=2= Q0=
G4 8= Bl=0= 45 =865 =
Twxac= BO <+ 10 = Gx9=
40+ 5= bxb= Bx9=
[ = 27T+ 3= I6=4=
15 =3= 30+6= Gx8=
4 x 12 = 11 = 3= 10 =9 =
BExQc= 6+ 12 = 8-2=
36+12c= 433 = rre
108 + 12 = 20+ 2= Qx2c=
G ox 10 =




